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Candidates have been called for written test based on the data furnished by them in the online

application. If you do not possess the required qualification as per our advertisement, your candidature
will be summarily rejected.
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Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet
before start answering.
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- The question paper is in the form of Question Booklet with 80 Objective type questions based on the
curriculum, carrying one mark each with four options indicated, out of which only one will be
“unambiguously correct.
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Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen, only as per the instructions given in the OMR answer sheet.
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Candidates should write their Name and Roll Number in the space provided in the Question Booklet.
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A separate OMR sheet is provided for answering the questions.
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As the OMR answer sheet is being machine scanned, utmost care should be taken while handling /
bubbling answers. No spare OMR sheet will be provided.
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Question Booklet Code (A/B/CID/E) printed on the top right corner should be written in the
space provided in OMR Answer Sheet.
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All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong
answer. Multiple answers for a question will be treated as a wrong answer.
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Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red
hand, they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal
action as deemed fit will be initiated against such Candidates. Instructions in this regard, already
published in our website may strictly be followed.
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Space available in the Question Booklet can be used for rough work.
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On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at
the top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate
copy with candidates. Utmost care should be given while tearing the OMR Sheet.
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Candidates will be permitted to leave the Examination Hall only after completion of the examination.
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After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will
not be considered for evaluation. Responsibility rests with the candidate to hand over the admit card to
the invigilator without fail.
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The questions in English version alone will be taken as authentic though questions are given in Hindi
also for the convenience of the candidates.
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dEaAAga ‘i (ee¥) / TECHNICIAN ‘B’ (TURNER)

oY H S T AT 3GTHT 8l &

In lathe lead screw is needed for

(a) SR &IesT / Thread cutting

(b) & & 9FS+T / Holding the job
(c) WA / Facing
(d) 3ITRFT H ¥ PIS 7T / None of the above

fArfof@a st & & #la a1 &7 o F 78 a1 o goar 2
Among the following operations which cannot be done in a lathe?
() TATART / Milling (b)  T2fefer / Drilling
(c) WSS / Grinding (d) wisfeleT / Filing

oY g6 AT F FAT FE §?

What is the function of Half nut in a lathe?

(a) 9MST # gaX CEAAT / Power transmission to carriage

(b) el G d e IR / Power transmission to the tool post
() T IR d& 9w AL / Power transmission to the Gear Bar
(d) 39 T / All the above

Az & fov Ao & @ g 3ysor 1 smaeasar g 2

Which one among the following tool is needed for turning?
(a) W15 AR By FeX / Side and face cutter

(b) f3er/ Drill

(c) seiFeis/ Electrode

(d) veher fdg st HT ITHIOT / Single point cutting tool

3
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31S T YA T STaT &
A die is used to

(a) 37TdR® YT Head / Cut internal thread
(b) SR YW &est / Cut external thread

(c) UH & HATCH &lel / Finish a hole
(d) UH B¢ 987 ol & U / To enlarge a hole

Teh THITel TaTSe &Hicar Tof =TT ST Hehell &

A single point cutting tool can be made out of
(a) UOwHEH /HSS

(b) © &R 182188 / Cubic boron nitride
(¢) s’HS /Diamond

(d) 39U g3l / All the above

M20x1.5 & emar &, M &r 3797 &
In a thread of M20x1.5, M stands for

(a) =goIdH Y / Minimum thread
(b) TSR IA €PN / Maximum thread
(c) HAEIH YN / Mean thread

(d) ¥Nfew @ / Metric thread

g9l TiE 95 F s e gl
In a double start thread, lead is equal to

(a) T /Pitch (b)

() T@=/2 / Pitch/2 (d)

FHifeeh Yl FT Felep HIOT FAT §72

What is the flank angle of metric thread?

(@) 27 (b)

(c) 60° (d)
4

2 T= / 2 pitch
g &a3X / Pitch square

45°
5ho
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10.

11.

12.

13.

14.

AT 95 T grar &
The lathe bed is made out of

(a) o=dr 3EUTd / Cast steel

(b) FToTolT FEIA / Stainless steel
(c) Tear T / Wrought iron
(d) =T &rgr / Cast iron

afeieR HAw a9 & v sged e §

The material used for making vernier calliper is

(a) SEATT Hr WS / Maraging steel

(b) #Hg AT / Mild steel

(c) HoOR FTeld T / Hardened Stainless Steel
(d) h=dr &gl / Cast iron

QfFer foraes fow fovar o=y arerm 3itaverT &7

Reaming is the operation performed for

(8) HMM 3c9es] AT / Generating a thread

(b) B¢ 3cdeol HT / Generating a hole

(c) BT P WcH FLAT 3 37 e / Finishing and enlarging a hole
(d) TS 3NEFHER S T / Making an oblong hole

THTH 304 FeTord Tl Soflal 3 T 97 s o1 aca
Major alloy elements used in making SS 304 Stainless Steel

(a) Cr &Ni
b)) Cu&Zn
(¢ Mo & Co

(d) SRFTF I ﬁ'é el / None of the above

90° & I AT 180° & T & HIUT Fgellcl &
Angle above 90° and below 180° is called

(a) HHAIUT / Right angle

(b) =g WIUT / Acute angle

(c) 3 FIT / Obtuse angle

(d) 3R=EFaF I ﬁé’ el / None of the above

777-TN(T)



15.

16.

17,

18.

fFefaf@a # ¥ @7 | 39T HOT UF TG A I [T ya® & v gew
ST 872

Which of the following tool angle is provided for the easy chip flow in a lathe?

(a) ¥& 0T / Rake angle

(b) e FAITT HUT / Front clearance angle

() Tuehd Relwm ST / Sidcle relief angle

(d) =rsT ISTE / Nose radius

T arely 3o & fov cfawe Ba @ g worg
The point angle of a twist drill for drilling aluminium material

(2) 60° ®)  100°
© 118° @  80°

afifeder & v e dise i e F ToRcHAS & F0T Ugie ar Si1am &

Negative rake angle is provided in a single point cutting tool for machining

(a) drar / Copper (b)  3FHIEIA / Aluminium
(c) esefagd / Titanium (d) oar / Wood
fArafaf@a su=t & @ i a1 @@ 22

In the following statements which one is correct?

(a) @Har o¥or FemsfEer avor & SEX § / Linearity friction is equal to sliding

friction

(b) Vfeler a¥orT FemsfEr avor ¥ H®WF § / Rolling friction is more than the sliding

friction

(c) TersfEe a¥ur aig Y@edr a¥or ¥ FH gar & / Sliding friction is always less than

linearity friction

(d) Y@har advr @dg TomsfEer a¥ur & %7 gar § / Linearity friction is always less

than sliding friction

6 777-TN(T)



19,

20.

21,

22.

TS & 9T fRar Jmar g

A lubricant is used for

(a) wTEdr gyor / Reducing friction

(b) SEAT EYOT / Increasing friction
(c) H°cdr gdid / Reducing pressure

(d) S&dr &g / Increasing pressure

AR Y TR THACTd U3 3N 95 RAw & @y B ST 91 Ay & sl ar
TR Tay i@ & fFar sreen?

In turning a job with cylindrical step taper external thread and thread relief, which
operation will be carried last?

(a) TUYX / Taper

(b) T9 / Step
() UFHesd 9% / External thread
(d) U5 RNe% / Thread relief

TegHIATH el d1 Hser 7 fHE 3TAer e & &9 F AT ST ¥
In turning aluminium material which is used as the coolant?

(a) U / Water

(b) de / Oil
(c) TAEY &7 e / Kerosene
(d) RITeT &7 ool / Coconut oil

fRell 3aRe amt 91 @et & fov fafaf@a & § fFa oo & s gger qu fmar
STTTIT?

For cutting an internal thread, which of the following diameters of the job shall be
finished first?

(a) 9HY 1H / Major diameter

(b) o =a1F / Minor diameter

() = dcd a1 / Pitch circle diameter

(d) ofE] =TH IR o= dod <arH &=l / Both minor diameter and pitch circle diameter

7 777-TN(T)



gfe ThEr dlced & 3YaT &l 91 CNMG 12 04 08§ ar G & Far 379 872
If a cutting tool is named as CNMG 12 04 08 what does G stands for

(a) BTelel &1 3R / Shape of insert

(b) fA®IT / Clearance
(c) HEgALMerdr / Tolerance
(d) SIATT / Geometry

dicc & T # 58 SQ50x4F & & AfEse fFar a=r §1 T Far e2ufar &2

In the drawing of a bolt it is specified as SQ 50 X 4. What does it indicates?

(a) oY =arg 50 e 3R = 4 e & A @R 9w / Square thread with minor
diameter 50 mm and pitch 4 mm

(b) STHAE g 50 FAEY iR g 4 B & @y geeR 9em / Square thread with

nominal diameter 50 mm and pitch 4 mm

(c) =HAE I 50 AT 3K o 4 e & @y geeR 4w / Square thread with

nominal diameter 50 mm and lead 4 mm

(d) vHE =a" 50 AT 3R e 4 @A & @y Afees awm / Metric thread with major
diameter 50 mm and pitch 4 mm

Cos26 + Sin2f & e §

Cos? 0 + Sin2 0 is equal to

(@) 1 (b) 0
(0 « d %
Tan 6 & R §
Tan 6 is equal to
@ uyaT gy ’ Opposite side

3ol TaT Adjacent side

o uet Opposite side
(b) =) / Hypotenuse

e 9&T Adjacent side
(© T /  Hypotenuse

&HOT Hypotenuse

(d) 3T ge  /  Adjacent side
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27. TH QAN W 45° & FHd W T A @ 78 § daR F @ F IR T # gl

28.

29.

30 AT g1 aY W oS Reder £

A ladder is placed on a wall at an inclination of 45°. The distance from wall to the base of
the ladder is 30 cm. Then what is the length of ladder?

(a) 1542 @A/ em
© 3T% fir i om

el B8 & IHR 39 THK ¢

EISUC I = 20 f&=T
HaRw = = 10 &Y
ECIES = 100 &+
HHI F Gelcd = 7800 Kg/m?

IR & gTATT fhdaT &7

The size of hollow bar is as follows:

External dia = 20 mm
Inner dia = 10 mm
Length = 100 mm

Density of the material 7800 Kg/m3

What is the mass of the bar?
(a) 0.735 TR/ Kg

(¢) 0.0735 fham/ Kg

SI YuTrell H #R $T 3hS a1 &2

What is the unit of Weight in SI system?
(a) Team/Kg

(c) oluw / Kef

(b)

(d)

(b)
(d)

(b)
(d)

302 ¥/ em

30x 28HT/ cm

7.35 fham / Kg
1 foRarm/ Kg

T /N

UUH/TT / Nm/s

777-TN(T)



30.

31.

32.

33.

34.

R 9T 100 N T §ef SHIRT STl & o8 @8 1 Hiel i gl ae gaidm &1 a1 &7
T 77

A force of 100 N is applied on body causing it to move a distance of 1 m. What is the
work done?

(a) 100d (b) 100 kJ
(© 10d (d  1000d

al TEIHT AT AT 2 : 3§ AR 3T IR 864 &1 AT HEABT F &g TEH B
T FieT A 7

The ratio of two numbers is 2 : 3 and their product is 864. Which is the smallest number
between the two numbers?

(a) 12 (b) 24
(c) 36 (d 48

T ST F 5, 10 3R 20 39T Hea $T 900 & ek g1 [dFh 4:8:10 & e[ # gl
$T H T20 % Tohclel e g7

A bag has Rs. 900 in the denomination of Rs. 5, Rs. 10 and Rs. 20 coins. The coins are in
the ratio of 4 : 8 : 10. How many coins of Rs. 20 are in the bag?

(a) 12 ) 24
(© 30 (d) 48

aﬁx:y:6:5%a’r[ j:(ljaraﬂmﬁwm

-
y) \x

If x : ¥y = 6 : 5 then what will be the ratio of [EJ : (lj?

¥ L&
(a) 36:25 (b) 25 : 36
) 6:5 (d) 5:6

fafafEa & @ sl ar sonfaaRer @l @ aqor =61 §?
Which of the following is not a property of engineering materials?
(a) &ifas T / Physical properties

(b) §§EYT / Polymorphism

(0 Taafaw o1 / Chemical properties

GV IEET aoT / Mechanical properties
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35.

36.

37.

38.

SN for2iiait 3 g €3 # HFaY 3TAeT =} 487 fhar siar &2
Why pure metals are not frequently used in Engineering applications?

(a) HARAT / Hardness

(b) W_BFIT / Brittleness

(¢) TH® / Luster

(d) HEAT / Softness

fArfaf@a & & s Mfas & e oo § Ses gl afae 27

Among the following which class of engineering ceramics includes lubricant materials?

(a) 39erq / Metalloids

(b) @SS / Carbides
(c) EexHcIferdd / Intermetallics
(d) Hewrss/ Sulphides

eTef@d & @ Fa meRaa & 9 e Far arar £

Among the following in which material compressive test is done?

(a) ¥ASTT TS / Stainless Steel

) mﬁﬁm EE] 4rd / Aluminium alloys
(¢) dEr / Silver
(d) ear oigl / Cast Iron

SoNATRT 3eqor2ier 7 s g seara & wraffsar & s &, ———— & &R

Alloy steels are preferred in Engineering application, due to
(a) ®gaR oderdsT / Improved ductility

(b) 3= AMATAT / Higher machinability

(c) 3=d fFd / Higher strength

(d) FIRFT Tl / All the above

11 777-TN(T)



39.

40.

41.

42.

43.

FETH Tl T & [T 39ATeT 7T S arelr wuf@e ded Sl ar g2

Which is the primary element used for making Stainless Steel?

(a)
(b)
(©)
(d)

Sldrec / Cobalt
#Aferssad / Molybdenum

e / Copper
HITEIH / Chromium

frafoi@a 7 & 59 #1188 T 3UATT 3IUaUT Fea & [T Far Srar g7
Which of the following carbide is used for cutting tools?

(a)
(b)
(©)
(d)

el #ETEs / Silicon Carbide

e HEes / Tungsten Carbide

eBcfaIT FEES / Titanium Carbide
SWIFd T / All the above

fa@d & & Sl ar [3ae FaEor greeh a8 82

Among the following which is not an aircraft material?

(a) IS / Rubber (b)  vaf&ce® / Plastic
(¢) @ / Glass (d) @3/ Lead
ToIHIAH T aTelelieh gial &

Melting point of Aluminium is

(a) 660°C (b)  1500°C

() 250°C (d  2000°C

oA EEIe T Ieledlich alal ©

Melting point of Stainless Steel is

(a) 1910°C () 723°C

() 810°C (d) 1510°C

12 T77-TN(T)



44,

45.

46.

47.

CHaNET T 3237 §

The purpose of tempering is

(a)
(b)
(c)
(d)

AR dara I X & foT / To relieve internal stresses
S-ﬁilTFIT ®H &l & [T / To decrease the brittleness

Fodr 3R Tedr & FAIRT W & T/ To regulate hardness and toughness
Wi |l / All the above

IRTH FEle & g AFT S I IR &7 3UANET FFE ARTH & & & Rar
ST &

Coke or charcoal mixed with barium carbonate is often used as a medium for

(a)
(b)
©
(d)

B FHISTSeT / Solid Carburising
ABe3E39T  / Nitriding

3=A1fel9T / Annealing

ArTars T / Normalising

-5 T H T & gfIAd dodr &

As % of Carbon increases in steel

()
(b)
(©)
(d)

FERT G & & SiTar & / Corrosion resistance decreases
FORAT HH & AT & / Hardness decreases

e S 8 ST § / Ductility decreases

3WIFT #F T &5 dAar / None of the above

TRATA H GUR & AT 3HYA1S ST arell FSAT 3UAR Uik §

The Heat treatment process adopted for improving ductility is

(a)
(b)
(©)
(d)

grsfiaT / Hardening
ATS¢I339T / Nitriding
3AITel9T / Annealing
3USFT T / All the above

13 777-TN(T)



48.

49.

50.

51.

TS & "elcd §

Density of Steel is

(a) 3000 FReTETA/EA Hiel / 3000 Kg/m?

(b) 4200 TrelRmA/E e / 4200 Kg/m3
(c) 9000 TeohrelamA/E=T #Hex / 9000 Kg/m3
() 7800 Trelrma/asT #Hiex/ 7800 Kg/m?

TrEel Relst &1 3 A e BT §

The formula for finding out the volume of a hollow cylinder is

T 9 T .3
(a) Zal xil (b) Zd
© %:—(Dzﬂdz)xl @) %(Da—dS)xl

afe ol SRR o T AET <O D § At oy oard ‘d § AR ews v ¥ ar o &
A T §7?

If the major dia of a conical object is ‘D’ minor dia is ‘d’ and length is 7 what is the value
of &?

() sin(D;2J ®) cos[Dz_zj

©) tan-l[g‘—d] @ sin'l[D2—_ld]

21

rfaf@a # & la @1 CNC 70t F gaf 39 gomer &1 w7 78 2

Which one of the following is not a function of servo sub system in CNC machines?
(@) 3uaoT gRads / Tool change

(b) UwEer A&7/ Profile generation

(c) Thisse IrATHT / Feedback processing

(d) TEufa vg 391 AIFUT/ Position and velocity control

14 777-TN(T)



52.

53.

54.

55.

56.

CAD/CAM &I CNC & 9y g3y forar srar g
CAD/CAM is interfaced with CNC for

(a) HATelel % 3caTGehdl Pl HYUR / Improving productivity skill of operation
(b) AT T 3T CEH FH el & o0/ For decreasing down time of the machine
(¢) gl (a) 3 (b) / Both (a) and (b)

(d) edelusT & &/ For flexibility

CMM &1 9ol &9 &1 §7?

What is the full form of CMM?

(a) SHFYZSS AT 7AW / Computerised Measuring Machine
(b) F-3HEae AFRIT 7MW / Co-ordinate Measuring Machine

(¢) Fr-3nfEae Af@eReT AMT / Co-ordinate Monitoring Machine
(d) Fc HAJRET JMA / Current Measuring Machine

CNC #efieit 3 W-liss dler &5 &1 3udler far orar §
Pre-loaded ball screws are used in CNC machines to
(a) 3TRUITA FeI¢ / Increase the rpm

(b) e &3 / Increase the power

(¢) wfAfshar & @A &Y / Eliminate backlash

(d) F9IT FH FL / Reduce vibration

SI yorelr & AfFd &T s a1 g2
What is the unit of Power in SI system?
(a) SfeT / Joule (b) dIc / Watt

(¢) #ggsl / Newton (d) TFERR / Ampere

Ueh AU ST H, 90° & IHl1dT IHHT Ueh HIUT 30°§, dl GAL HIUT T AT FAT 57

In a right angled triangle, one of its angle other than 90° is 30°, then what is the value of
the other angle?

(a) 45° b)) 70°
() 60° (d 30°
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57.

58.

59.

"X d9HA & dgd, UF $eded & ARTH § 9RT 398 A7 & O gafRa 3iaw &

FAGIT By §"1 3 T Y sher e &

“Under constant temperature, current through a conductor is proportional to the

potential difference between its ends”. This law is called

(a) fHEIE &1 9F / Kirchhoffs Law

(b) Y2 T AIH / Faraday’s Law
(c) 301 & A9 / Ohm’s Law

(d) oleoT FT IH / Lenz’s Law

T HAMA FT TS oITH g

Mechanical Advantage of simple machine is

() s, Load
spaipz) Effort

(b) HINH CART I Hr TS E'kﬂ | Distance moved by the effort
HR EaRT T &l 15 ol Distance moved by the load

(C) LSE2IES] / EffO]i‘t
aR Load

(d) 8RR x Y9I / Load x Effort

MY & fohE adt &, Gorshd T 3R 6R & €T g gl 372

In which of the classes of lever, fulecrum placed between effort and load?

(a) @ 3/Class 3 () T 1/Class 1
() @ 4/ Class 4 (d) T 2/ Class 2
16
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60.

61.

62.

I fow v Reg &1 w1 I8l el & forw foham ST §1

The symbol given below is used to identify

g 4

(a) 9UH HIOT g&YUT / First Angle projection

(b) 3ireifanfher 9eI9uT / Orthographic projection
(c) Ej_?—ﬁ"—'l’ SIUT 9&199T / Third Angle projection
() 39UFT FT / All the above

T T # MY g FF gEa & FA & & gfar g, weivor i R [ @ v
39rer far Iram g7

In a drawing, the top view is shown below the front elevation, what is the method of
projection used?

(a) YYUH ST / First angle

(b) AT IUT / Third angle
(c) EIad™ SIUT / Second angle
(d) 3RFd H ¥ P a1 / None of the above

3iteifanfirer gatgor
The orthographic projection

(a) T3-3mam&#AT 3D a¥d @l GE-3#T 2D TF YAl AT § / Provides 2D view
representing 3D of the object

(b) G&I9UT I YA el H ¥ Th & FACICH Bl & / Projection plane is parallel to

one of the principal planes

(¢) MBS WeTeT gl L / Does not provide depth
(d) IR Tt / All the above
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63.

64.

65.

66.

Teh M9 3R B¢ & Aeafaf@a ggaeiiaar & @y Bomss fFar = ¢ -
AFE D60 £002 mm &G @60.02 +0% mm
fhe &1 YR wIed gle T Fad 3o gHrEer &

A shaft and hole is designed with following tolerances —
Shaft @60 22 mm  Hole @60.02 +'37? mm

The type of fit most likely to be achieved is
(a) TFea{g e / Clearance fit

(b) eafdexor e / Interference fit
() THAIT e / Transition fit
(d) @l AT / Loose fit

HAISHIACT 3R S Tohdl T TG $r 5w $H o1 Toar &

Accuracy of micrometer and dial indications can be checked by

(a) WIeR 31T / Feeler gauge (b) TEeT 35T / Slip gauge
(¢) R 95T / Ring gauge (d) T ST / Plug gauge

RfCRRE # g & fow swgaa vfoas §
Cylindricity is represented by

@ | ©| 03
® | ®| 03
© |d] o3
@ |O | 03

A QU a0 gl & T HiT AT NBS Géehar & gTar &7

In the symbols given below, which one represents profile accuracy?

(a) 5| B
(b) 7| O
(©) B

— 0.3

(d) 3WFT H T FS 781 / None of the above
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67.

68.

69.

o= 1.5 fA#T 3R 93 0T 60° & T Hifgd Uz F 3 IR /Y F7 39T WE 3HF O
=g & o [A0eT0r foRar Srdar §1 998 38 3$R & d] & oI &

A metric thread of pitch 1.5 mm and thread angle 60° is inspected for its pitch dia using
3 wire method. The dia of best size wire is

(a) 1fA#T/1mm b 2 @FA/2mm

() 1.54 T/ 1.54 mm (d 1.5/ 1.5mm

A U v udes & @ 3R v g sar &

In the symbol given below what does ‘a’ and ‘b’ indicates

(a) G Fed, FAMTAIT 87car / Roughness value, machining allowance
(b) YIEYeT Hed, 3cdica Taf&l/399R / Roughness value, production method/treatment
(c) FMTHIT &, AHeAT &aTS / Machining allowance, sampling length

(d) FsAT 3TR e, AT ETS / Heat treatment method, sampling length

Arr fqu 10 3mAA |, el #A ~gAdH Foraly Fr auEr Y
B oI = 34°0% Qe SURT = 35750

From the dimension given below, calculate the minimum clearance in the assembly

Hole dia = 3475 Shaft dia = 357%
(c) 0.008 @  0.005
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70.

1

72.

6 HHT 8T dTel O HT Fel SO STB hckell &7

What is the total surface area of a cube of side 6 ecm?

(@) 164 cm? (b) 216 cm?
(c) 64 cm? (d) 144 cm?
efsT ABC #

AB = 14 g#r AC= 12951 £ BAC = 60°
3T BC &l ofars Recelr §7?

In the triangle ABC

AB=14 cm AC=12cm £ BAC = 60°

What is the length of side BC?

A
14 12
B (&
?
(@) 10T#T / 10 cm () 7.13FF / 7.13 cm
(¢ 1423/ 14.2 ecm (d 13.113#r/ 13.11cem

U AN @l 25 WA S dTe Ueh F91 qellal & foIT U aR @ AR 97 ¥ IR ar &
geT: HISH Ueh god FIMT ST, @ Jed A Bar gl

A wire is bent to form a square of side 25 cm. If the wire is re-bent to form a circle, then
the radius of circle will be

@ 2 ® 2
T T

o =2 @ 507
V4
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73.

74.

75.

76.

FTeiad # & Tl &1 &l O Taar AFease g @ el afd & 331 89 &

HROT TS Bl g7

Which one of the following structure of steel is obtained due to slow cooling from

austenite structure?

(a) #¢ASE / Martensite

(b) 3iTEeSe / Austenite
(¢) Yeise / Pearlite
(d) HHA=ee / Cementite

fordT ITeT 9T &1 ARl §9 F e & AT 39T f5ar S arer M Hig F247 §2

What is the M code used for pausing a running programme temporarily?

(@ M08 ®) M 22

(© MO05 @ MO

ool oY HBHE (vod) F T ‘G FIS F4T §?

What is the ‘G’ code for tool length offset (plus)?

(@) G 42 ® GO07

© G41 (d G43

FMS &7 quT &9 27 §?

What is the full form of FMS?

(a) Telforddel ﬂFégﬁv'a‘“ﬂﬁ?T f&eeH / Flexible Manufacturing System
(b) WIS ﬁﬂﬁiﬁﬁﬂ f&¥cH / Fine Manufacturing System

(¢) ol A=gheraler f¥ed / Full Manufacturing System

(d) wrsATse HA-ghaaRer @cH / Finite Manufacturing System
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e

78.

79.

80.

TS AT A 3R 3YHI0T &7 doil ¥ g ST s@dhr [varnd §

The poor surface finish and fast wear of tool are the characteristics of

(a) T R & @1 @ad Red / Continuous chips with built up edge

(b) ¥ad @<d / Continuous chips
(¢) 3r8dd ==& / Discontinuous chips
(d) 3IRiFd T / All the above

cfeteT & SRIT STeaR Ry sefey &7 SRoT

Reason for Continuous chips formation during turning

(a) @AY odlell § / Material is ductile

(b) 3T ¥& @Il / Large rake angle

(¢) fideer g Tigsd &1 3T 39AT / Proper use of coolant and lubricant
(d) 39ed @t / All the above

el dag W &éer oo 7 hex I am=r Ser §

In a cutting tool, crater wear is found on the following surface
(a) TEid ued @dg / Principle flank surface

(®) ¥& ade / Rake surface

() AuTFe Fr Tdg / Surface of shank

(d) Tee HAFdr g3 foreT’T T / Auxiliary flange surface

sec @ T g7
What is sec@?

(a) 3TH=aA/m0T / Adjacent/Hypotenuse

(b) Tada/®T / Opposite/Hypotenuse
(¢) UN3E== / Hypotenuse/Adjacent
(d) Fu/fAuda / Hypotenuse/Opposite
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o wE & fom wm Space for rough work
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WS

w= BE * e wme Space for rough work
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